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Use. order of operalions with directed number

Square: a term multpled by itself
Expression: a maths sentence with a minimum of two numbers and at kast one. math operdtion (ho equals sign)
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| What dolneedtobe abktodo? || Feuwords
: By the.end of this uit you shoukd be,abk tor : : Subtract: toking away one number from ancther
| = Perform caluations that cross zero Il Negatie: a vake less than zero
|+ Odd/ Subtract drected numbers | | Commutative: changing the order of the operatiors does not change the result
| = Miltiply Dude drrected numbers | | Produet: muttply terms
| = Evdvate debrac expressons | | Iwerse: the opposte function
|+ Soke two-step equations |1 Square root: a square. oot of a number is a rumber when multiled by tself gues the valve (symbol /)
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: Subtract directed rumbers (@ = -1 |1 II"Iultus'h/ Divide directed numbers : :Evabate aloebraic expressions :
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“Subtroct” — means toke | Two representations of I 1= R 1= (L4 |

I Fepresentation for cakulalion A o oo I I the same cacubdtion Ax2- _6 I I a:\ 5’\ b’\ ( 4J I
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I | Neagtive, Negative cakuiation

| I | Il With reggalive numbers the brackets are. important so I

| =¥ -3 The act of I that it performs -4 x -4 I
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| Two-step equations (4. ... | | Use order or opeations — |
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